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(7 .j ,K)are aright set of unit vectors .

CIA 7 (VG o)l - A=alyol) dulinl) A



LN 591 - (A 3oty ¥ ARILY) Al a1 Acuigh g it~ ¥+ YA/ Y IV (oad 5oh8) ) - Zolal) 2y 3L st 5N ALEN B3 L gt el

1 The last term in the expansion of I s e Y1 asd)
2—-x)°Q+x)%iS ceeiieeis 52 (0t Y) (- Y)

@ x5 b —x5 e "0
@ 510 @ 10 " @ e
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2 IfAB=-3T+3+7k,BC=]+5k

then||AC || =

-—

C B VP L v = SO 1)

—

& o+-\—;0=}—x_g
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3 Ifthe twoplanes: x + 2y + kz = 0,
2x +y — 2z = 0 are perpendicular ,

N | =

1L gl OIS 13
ui,u\».a '=&\'—u0 NS Al
............... SERE
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4 Without expansion the determinant ,

Prove that :

a b
b a
b c

Cc
C
a

=(a—b)(a—c)(a+b+c)

:JCA.;STJW\&BQ}.L?

> < P
= P e
P = <
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S IfZ = —1 —1i, then the exponential form
for the number Z is

......

Bl OB & - V-2 F G5
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6 IfA , B € RZ then

|AXB P+ (A ¢ B)?=-ieuen

@ J|lA|"+ 1B
® [|l4- 5|
©|z+ 8|
@ [|17)° 1B

088D oS

(SIS

ISI+IT1 @
I=-7I ©
ISTI @

(= e
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7 Inthe expansion of (1 + x)® according to
the ascending power of x. If the fourth term
equals 7, find the value of x then find the
ratio between the sixes term and the middle
term 1in this expansion.

- A . .
G e (oY) S Sae
gl el O 13 Lusladl
sl @ o e sl v sl
Iy el wsdl e Al

2 Sadl a3 JawsY!
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8  Find the different forms of the equation of
the straight line passes through the point

(- 2,3,5) and parallel to the straight line :

x-1 _y+1 z-3

2 4 3

Lozl Dslaed Akl gyl dm gl
(ocrov-) dardl L) i)
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9 1 1 \ \ .
(1+205+=) (1420 +— ) = (g OO Y 1) (rgg DY )
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10 Find the different forms of the equation of | dJsla I & alisdl s allassl
the plane passes through the point c(EeN-e)) Azl Sl (g gl
(1,—1,4)andthe vectori = (2,—3,4) | &5 (£c¥-c¥) = 0 axzdl

is perpendicular to it .
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11 Solve the following system of linear plasaly AW Y slad pls J
Bsiacdl o ) e sSadll

equations using the inverse matrix:
X—2y=5,22+y:x,x_22=_1 ‘u‘=u¢+&\' a °=u0*-u~
V-= Y-
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12 The student should answer 10 questions out
of 13 questions on a condition that he should
answer 4 questions at least from the first 5
questions , then the number of ways for his

answer — ..........
@) °C,x BCq

() °C,yx 8Ce+ 5C5x 8Cs
© 5P, x B,
@

°pP, X 8P, + °P; x 8P

16

Bz 0T I e oy
O Loyio Yoo \¥ e el
oo Y e AT e g

S eIl A
L ez I G a0l
......................... k;ju;,maj\

A °
DX @
il ¢

A ° A °
VX O+ OX @
° ° a 2
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I3 If14+7% + 70, X2 + oo +x7 =128, AR SR AR I (L
thenthe value of X = ... | P b QB AYA=Y
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14 The point lies on the straight line M\u\s@@\w\
r=(2,-1,3)+k(1,2,-1)is.... (VYN ) S+ (Fer-o¥) ="~
.................. Ub

@ (2,5,3) ® (1,1,1) )@ (reoery O
© (0,0,1) @ (3,1,2) A IONIPTREC)

18 WA 3
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15 Answer one of the following two items:

A)IfZ = 7, write Z in the
trigonometric form then find its cubic

roots in the exponential form.
(B) If% = (ki)? find the value of
the real number k.

+ OGN (oG p2aN Gk | (e |

= L N0
rw‘v%ﬁ‘&&db
£ okl GaSl ) padl sl
'“:“Y\Ujﬂd\@

O 131 (<)

V(Q_S) "N+ N+
"WY-WY -\

S sl saa) ded as sl
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r > ? Cr—1, then........ | oL

N\

o <t OS5l
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17 The length of the diameter of the sphere:
x4+ y?+z2+4x—6y+8z+4 =0
equals .......... length unit

@ 5 ® 10

I8 e T 5,01 L b

=EFEAT LT e

22
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18 The sum of the intercepted parts made oo de ghazdl 6531 ) b g soa

by the plane 6x + y + 5z = 30 with the S sl Al 53 DU plove

coordinate axes equals ............ length unit Golug ¥r =8 ot p + T

@ 12 ® 30 v Q@ 20
© 31 @ 41 WO " @
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19  Answer one of the following two items:

(A)If A(1,2,-3),B(3,5,—-2),
C(m,1,-10m) ,determine the value
of m which makes :

(i) A, B, C are collinear (on the same
straight line)
(i) AB. AC are perpendicular.

(B) ABCD is a quadrilateral in which
A(3,0,2), B(6,2,5),C(4,4,5), and
D(1,2,2)

() Prove that the figure ABCD is a
parallelogram and find its area.

(il) Find the unit vector perpendicular
to the plane of the quadrilateral.

BN (G B8N G| (s i
c(¥-ev ) P easis ()
(pVe-eVep) > (Ymeoe¥) o
1Ja2d (A o ded (ud

Baslg dalinad Je > o P ()

Pan

SIS s>t (o)

XN oY on) P

(YY) soctct) >

Solge S = 2 P ISl ol et (i)
.bm.xq-jijiw?

S $o5es By axte sl (i)
(S SN s
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